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IE A K £ Tk 4 > | b—=%J)L | HDCP ok RAUk
& B ‘i F5 37 35 72 4.5 67.5 300
H2hH EiE BRI 38 39 77 8.1 68.9 200
<liva TR (PS 38 36 74 4.5 69.5 150
A3 JIIR  BA 40 38 78 8.1 69.9 70
541 R —X 40 41 81 10.8 70.2 60
64z mk %K 41 43 84 13.5 70.5
741 AR BAF 38 45 83 11.7 71.3 50
841 AR S 47 41 88 16.2 71.8
9fz R EF 44 46 90 17.1 72.9
104iz IS 39 43 82 9.0 73.0 50
114 A0 & 37 45 82 9.0 73.0
1241 B\ R 45 41 86 12.6 73.4
134z A B 47 42 89 15.3 73.7
144 LA £ 44 38 82 8.1 73.9
1541 i R 39 43 82 8.1 73.9
1641 FOERX 42 42 84 9.9 74.1
1741 =H B 50 46 96 21.6 74.4
1841 e EB 47 49 96 21.6 74.4
194iz NS 46 38 84 9.0 75.0
20fiL HE R 45 40 85 9.9 75.1 30
21431 =F FX 46 43 89 13.5 75.5
22141 BH BX 49 41 90 14.4 75.6
231 x5 IEM 49 53 102 26.1 75.9
24431 izl & . 7 44 47 91 14.4 76.6
2541 =R X 44 48 92 15.3 76.7
2611 Bl B 48 49 97 19.8 77.2
27431 Kty BB 43 43 86 8.1 77.9
284z wE k& 42 45 87 9.0 78.0




=T LTA—RABHE

FRE31E1R148(R)

g £z K A 7ok 1 v —%JL | HDCP vk KAk
291 ARH X8 54 51 105 27.0 78.0

301iL MZE ZRER 46 43 89 10.8 78.2 30
314 KA & 46 51 97 18.0 79.0

32fiL BAR =R 50 52 102 22.5 79.5

3341 =% BX 45 46 91 10.8 80.2

344% BK #F 46 42 88 7.2 80.8

3561 % S8 44 45 89 8.1 80.9

361 WE 1EA 50 45 95 13.5 81.5

371 Frig fERx 41 45 86 4.5 81.5

3811 A FH 53 53 106 24.3 81.7

3913 mE B 51 55 106 21.6 84.4

4061 | ARK E/\H 54 61 115 30.6 84.4 30
41451 K LE 46 46 92 7.2 84.8

42431 h¥ B 47 a7 94 9.0 85.0

A3{iL INK B— 53 57 110 24.3 85.7

4431 )il EF 62 62 124 36.0 88.0

BBE ki EIE 52 53 105 12.6 92.4 60
4611 NH HE 56 51 107 14.4 92.6
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